0.53

0.5



47

195




FopRgg up 7] et

<X
=

0.62

ae

3.

o | <

18
50

31
50

36
100



4.

7 a2 271€ Huste] Ol >, <, B =E A

4
0130 5




1

o

r? ol

a

o A Stu 7t A= 1% kmo]1, A =Z7tAE 1.88km

Utk AellA szt el Azlsh SARAA ] A FAA o
2 ojt] U7

L



LTS

04x3.6%5




Mo

.
ﬂﬂu
X

T
LI
o W
RS
° ¥
&0 oo
° 2
Hq
Vz_.e
N
E.ﬂ
o ok
ey
ol o
-
T
o —
°T
N o
_-Lﬂ‘_
%_N
m.t?
K2
K~

-
—

A2 7

s

kg



8.

Oa 2@ oA A= &

g7t

7}

® 7} - ut
@ - 4

ofr
ro
ki
ol
o
jus)
=z
ru
=2
re
iih}
s
oY
ro

] (%)

@ -4 ® t-
® -2



B
L






11, o 4743 59
R =

a

L
R



_I_
o
‘_.ao
mﬁ
<A
=3
o
U
=y
olp
W
o
~N
o
N
RIS
3T )
5 <
ol
T J
EaCy
ol
uk =
o
B I
”_._ﬁ_l Mm
<8 Af
™

@ 3cm, 8cm, 110°

@ 10cm, 8cm, 80°

@ 9cm, 2cm, 150°

® 6cm, 6cm, 55°

® 14cm, 10cm, 180°






ol
™
Al

o|J
T
ol
o8

—_—

N

ofg

o
B
T

oA

e
‘_.#mo
I~
7A

o|J
olp

o st

_CH

Ao

=]

@ A



N

— |

0
N Ex o

-0

2
3

— =™

a ™

e ©

3eLl=

2

LO
a

| — e I

— -0

[ I I Yoo}

@ @




shok g 717

m=

@1



F2 8 Az Mo,

ol
=2 X

I

°f

bl

]

17.




ul Aol

=
=

18. = §m



19. o= F At 237t

3
@® §T4



2.

S

31 39 31 31 31
o= 422 o= o= 2=
64 @ 64 © 4164 @ 4064 © 432

D 4



op

21.

o | <

— ™

o 1ot |5

@ @



22. 0.1°]46,0.01°]16,0.001 ©] 6 2152} 0.1 ©] 38, 0.01 ©] 30, 0.001
o] 14 Q19 & 7|k R 42 vt2 A YEtd A2 o] AAY7L?

88 22 44 652 163
Oy @85 @85 @ 9



* (D 0.5625

o1,
100

@

e ©0.75

33
40 °

)

* © 0.825

«® 0,91

9
16 °

3)

—  ~— ~— ~—

~—  ~—  ~— ~—



24. 49| 2717} B2 SUE BI]A 1249,

@® 0.25 @

= =
DO
(@)



25. Z+5FH AR solsa o,

) @

N | =
oo w
®
|



A

23] 7]

AL ol AU

rel

26. 389 x49 = 19061 Aufj, A4=Ho] &

P

|

@ 389 x 4.9 = 1906.1 @ 389 x0.049 = 1.9061
® 389 x 0.49 = 190.61 @ 3.89x 49 = 190.61

® 0.389 x 49 = 19.061



27. 49x18 =882 A& o]gatel[ et
49x[  ]=882

D R
=%



28. O &l >

= <E g HE oA,

81.9 x3.004 X 0.26 O 8.19 x 300.4 x 2.6




1
017} 217} sem o] 3, 1 Aol o] Zke] A717} 60° 91 417h
o= & em A T

N
or
gl
Tod
ﬂ
=3
ay

N R

of T

B M

U o

o

cm



o] Zo|7} 27k 9em o] 3, 7 Aol 9] Zke] A717} 60° A Azt

HEAQ,

o, Yz F 2o 271E

=3
=



31. o& ™A A4E 7o 449 ool e o, A

b}

229 Yolg Fafedal.

1 =

iy

his



£ 7342,

a9 77

35




B
.

@ THER



